Eva makes a 5-digit number.
Mo makes a 4-digit number.

The difference between their numbers is
3465

What could their numbers be?

Possible answers:
9658 and 14,023
12,654 and 8,289
5635 and 10,000

Etc.

Rosie completes this subtraction
incorrectly.

23701
—-_(062]
21180

Explain the mistake to Rosie and correct
it for her.

Rosie did not write
down the
exchange she
made when she
exchanged 1
hundred for 10
tens. This means
she still had 7
hundreds subtract
6 hundreds when
she should have 6
hundreds subtract
6 hundreds.

The correct
answer is 21,080



